nEsi= P[U_, V_] = {(@a+bxCos[u]) Cos[Vv], (a+bxCos[u]) Sin[v], b*Sin[u]}

ougzs= { (a+b Cos[u]) Cos[v], (a+bCos[u]) Sin[v], bSin[u]}

nzer= ParametricPlot3D[p[u, v] /- {a-» 4, b -1}, {u, 0, 2Pi}, {v, 0, 2Pi}]

out[36]=

nE7= dp[u_, Vv_] =d[p[u, v]] /- {d[a] » 0, d[b] - O}

o= {-bCos[v]d[u] Sinfu] -ad[v]Sin[v]-bCos[u]jd[v] Sin[v],
aCos[v]d[v] +bCos[u] Cos[v]d[v] -bd[u] Sin[u] Sin[v], bCos[u]d[u]}

neer= Simplify[Dot[dp[u, V], dp[u, V]]]

1
ous- — (2b?d[u]?+2 (a+bCos[u])?d[v]?)

N

nEor= EE[U_, V_] = b"2

ouze= b2

n
o

npaor= FR[U_, V_]

outfa0= 0

na1= GG[U_, V_] = (a+bCos[u])?

ourat= (a+b Cos[u])?
nazi= FLu_, v_] = SQrt[EE[u, v] *GG[u, V] - (FF[u, v]) 2]

ouazl= +/ (b2 (a+bCos[u] )2)

ne3= Integrate[b+ (a+bCos[u]l), {u, 0, 2Pi1}, {v, 0, 2Pi}]

oupaz= 4 a b 2



